Pay Estimate Created Date: July 30, 2021

Progress Estimate 6	Number	Contract ID Prime Contra		210219-G02 Videl, Inc.		Period Start Period End	July 16, 20 July 30, 20	21 N	Driginal Contract Amount let Change Order Amount Surrent Contract Amount	\$197,999.49 \$0.00 \$197,999.49	
Approval Date										By User	
August 2, 2021	Generated and Approved (and should be considered Draft) at the Project Office Level									maym	
August 3, 2021		Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by									
August 4, 2021	1 Reviewed and Approved at the Central Office Controllers Office Level									ramses1	
Original Completion	Current Cor	mpletion Date Actua			ual Completion Date %			% of Current Contract Amour	nt Complete		
December 1, 202	21	Decemb	er 1, 2021						94.45%		
	Contract I	nformational Dat	tes			М	ilestones				
Date Description	Original C	ompletion Date	Current	Completion	Date	No Milestone	es Exist for C	ontract	t		
Acceptance Date											
Awarded Date	March 3, 2	021	March 3,	2021							
Letting Date	February 1	9, 2021	February	/ 19, 2021							
Notice to Proceed Date	April 5, 202	21	April 5, 2	021							
Work Began Date											

Contract Total Pa	ay For Estimate No. 6				
		This Estimate	Previous	To Date	
210219-G02					
	Total Posted Items Pay	\$44,940.29	\$142,073.11	\$187,013.40	
	Gross Item Adjustments	\$64.00	(\$64.00)	\$0.00	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			<mark>\$142,009.11</mark>	\$187,013.40	
Contract Total Pa	ayable This Estimate:	\$45,004.29			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J7P3190I	0030	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$33.800	13	\$439.40
	0040	6113020	FURNISHING TYPE 2 ROCK BLANKET	CUYD	\$37.270	25	\$931.75
	0050	6113040	PLACING TYPE 2 ROCK BLANKET	CUYD	\$12.870	50	\$643.50
	0200	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.500	1,400	\$700.00
	0210	6207001	PAVEMENT MARKING REMOVAL	LF	\$1.500	250	\$375.00
	0220	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	SQYD	\$2.560	25	\$64.00
	0230	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$4,788.000	0.5	\$2,394.00
	0260	8061019	SILT FENCE	LF	\$3.360	75	\$252.0
	0270	8061050	TYPE C BERM	LF	\$9.910	75	\$743.2
	0330	7034212	SLAB ON STEEL	SQYD	\$673.390	54	\$36,363.0
	0340	7039903	MISC.TYPE A CURB	LF	\$35.690	57	\$2,034.3
Project J7F	23190I - To	tal					\$44,940.2
Overall - T	otal						\$44,940.2

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract	
Line Item Adjustments This Estimate	

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J7P3190I	0220	PERMANENT EROSION CONTROL GEOTEXTILE				25	\$2.56	\$64.00



Pay Estimate Created Date: July 30, 2021

Prog	ress E	stimate Number 6	Contrac Prime C			Pay Period Start Pay Period End	July 16, 2021 July 30, 2021	Net Chang	ontract Amou e Order Amo ontract Amou	unt \$0.	\$197,999.49 \$0.00 \$197,999.49		
Project Number	Line No.	Item Description	on	Adjustmen Type	t Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount		
Total											\$64.00		



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J7P3190I		Bridge replacement	265	STONE	on private drive over Pine R	un Creek 0.1 mile south of F	Rte. AA
Totals by J	ob Numbe	rs					
J7P3190I					This Estimate	Previous	To Date
	Poste	d Item Pay			\$44,940.29	\$142,073.11	\$187,013.40
	Gross	Item Adjustm	ents		\$64.00	(\$64.00)	\$0.00
			Gross	Item Pay	\$45,004.29	\$142,009.11	\$187,013.40
	Incen	tive			\$0.00	\$0.00	\$0.00
	Dising	centive			\$0.00	\$0.00	\$0.00
		lated Damage			\$0.00	\$0.00	\$0.00
		Contract Adju			\$0.00	\$0.00	\$0.00



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
19-G02	J7P3190I	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	1.00	\$733.35	\$733.3
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$81.40	\$81.4
		0001	0030	3105002	GRAVEL (A) OR CRUSHED STONE (B)	13.00	0.00	13.00	TONS	13.00	\$33.80	\$439.4
		0001	0040	6113020	FURNISHING TYPE 2 ROCK BLANKET	87.00	0.00	87.00	CUYD	50.00	\$37.27	\$1,863.5
		0001	0050	6113040	PLACING TYPE 2 ROCK BLANKET	87.00	0.00	87.00	CUYD	50.00	\$12.87	\$643.5
		0001	0060	6122012	IMPACT ATTENUATOR 55 MPH (SAND BARREL ARRAY)	2.00	0.00	2.00	EA	2.00	\$1,668.70	\$3,337.4
		0001	0070	6122020	REPLACEMENT SAND BARREL	2.00	0.00	2.00	EA	0.00	\$302.09	\$0.0
		0001	0080	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	EA	0.00	\$4,637.32	\$0.0
		0001	0090	6161005	CONSTRUCTION SIGNS	370.00	0.00	370.00	SQFT	324.00	\$6.50	\$2,106.0
		0001	0100	6161008	ADVANCED WARNING RAIL SYSTEM	3.00	0.00	3.00	EA	3.00	\$75.00	\$225.0
		0001	0110	6161025	CHANNELIZER (TRIM LINE)	25.00	0.00	25.00	EA	25.00	\$15.00	\$375.0
		0001	0120	6161030	TYPE III MOVEABLE BARRICADE	3.00	0.00	3.00	EA	2.00	\$125.00	\$250.0
		0001	0130	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$2,000.00	\$4,000.0
		0001	0140	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	1.00	0.00	1.00	EA	1.00	\$5,121.27	\$5,121.
		0001	0150	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	4.00	\$600.00	\$2,400.
		0001	0160	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	150.00	0.00	150.00	LF	150.00	\$31.42	\$4,713.
		0001	0170	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$19,483.08	\$19,483.
		0001	0180	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.	22.00	0.00	22.00	LF	22.00	\$15.84	\$348.
		0001	0190	6206000C	WHITE 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	250.00	0.00	250.00	LF	250.00	\$0.50	\$125.
		0001	0200	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,400.00	0.00	1,400.00	LF	1,400.00	\$0.50	\$700.
		0001	0210	6207001	PAVEMENT MARKING REMOVAL	1,672.00	0.00	1,672.00	LF	1,672.00	\$1.50	\$2,508
		0001	0220	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	102.00	0.00	102.00	SQYD	50.00	\$2.56	\$128
		0001	0230	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$4,788.00	\$4,788
		0001	0240	8061005	ROCK DITCH CHECK	40.00	0.00	40.00	LF	0.00	\$25.31	\$0
		0001	0250	8061016	SEDIMENT REMOVAL	6.00	0.00	6.00	CUYD	0.00	\$44.95	\$0.
		0001	0260	8061019	SILT FENCE	135.00	0.00	135.00	LF	75.00	\$3.36	\$252
		0001	0270	8061050	TYPE C BERM	123.00	0.00	123.00	LF	75.00	\$9.91	\$743.
		0070	0280	2061000	CLASS 1 EXCAVATION	110.00	0.00	110.00	CUYD	110.00	\$43.96	\$4,835
		0070	0290	2065500	TEMPORARY SHORING	1.00	0.00	1.00	LS	1.00	\$18,352.71	\$18,352
		0070	0300	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$8,518.66	\$8,518
		0070	0310	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	84.00	0.00	84.00	LF	79.00	\$267.98	\$21,170
		0070	0320	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	54.60	0.00	54.60	CUYD	54.60	\$481.93	\$26,313
		0070	0330	7034212	SLAB ON STEEL	54.00	0.00	54.00	SQYD	54.00	\$673.39	\$36,363
		0070	0340	7039903	MISC.TYPE A CURB	57.00	0.00	57.00	LF	57.00	\$35.69	\$2,034
		0070	0350	7129901	MISC.GALVANIZING STRUCTURAL STEEL	1.00	0.00	1.00	LS	1.00	\$2,068.52	\$2,068
		0070	0360	7161000	PLAIN NEOPRENE BEARING PAD	6.00	0.00	6.00	EA	6.00	\$148.85	\$893
		0071	0370	7121111	FABRICATED STRUCTURAL LOW ALLOY STEEL (I-BEAM) A709, GRADE 50	4,600.00	0.00	4,600.00	LB	4,600.00	\$2.42	\$11,132
	Project 17	D24001 T	tal Value	Postod to D	ate as of Report Generated Date							\$187,046



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	3105002	GRAVEL (A) OR CRUSHED STONE (B)	7/30/21	7/30/21	13.00	TONS	Rte 265 entrance Tie in to Bridge	814+27.67		814+27.67		
0040	6113020	FURNISHING TYPE 2 ROCK BLANKET	7/27/21	7/29/21	25.00	CUYD	Bent 2	814+13		814+44		
0050	6113040	PLACING TYPE 2 ROCK BLANKET	7/27/21	7/29/21	50.00	CUYD	End Bent 2	814+13		814+44		
0200	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	7/27/21	7/29/21	1,400.00	LF		810+77		817+77		
0210	6207001	PAVEMENT MARKING REMOVAL	7/27/21	7/29/21	250.00	LF	Route 265	813+02		815+52		Edgeline
0220	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	7/27/21	7/29/21	25.00	SQYD	Route 265	814+13		814+44		Permanent erosion control, Rock Blanket.
0230	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	7/27/21	7/29/21	0.50	LS	Route 265	810+77		817+77		
0260	8061019	SILT FENCE	7/30/21	7/30/21	75.00	LF	Route 265	813+73		814+86		Property owner side.
0270	8061050	TYPE C BERM	7/30/21	7/30/21	75.00	LF	Rte 265	813+93		814+66		Property owner side
0330	7034212	SLAB ON STEEL	7/27/21	7/29/21	54.00	SQYD	Deck	0+47.08		1+12.5		
0340	7039903	MISC. CONCRETE CONSTRUCTION	7/27/21	7/29/21	57.00	LF	Deck	0+47.08		1+12.5		

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Aug 5, 2021

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J7P3190I	EROSION	PERMANENT EROSION CONTROL	Material		5	Jul 15, 2021	SYSTEM	(\$64.00)		
		GEOTEXTILE		- Total				(\$64.00)		
			Material - Tota	I				(\$64.00)		
			MaterialCredit		6	Aug 2, 2021	SYSTEM	\$64.00		
				- Total				\$64.00		
			MaterialCredit	- Total				\$64.00		
	0220 -	Total						\$0.00		
	0320	CLASS B CONCRETE	Material		4	Jul 1, 2021	SYSTEM	(\$12,915.72)		
		(SUBSTRUCTURE)		- Total				(\$12,915.72)		
			Material - Tota					(\$12,915.72)		
				MaterialCredit		5	Jul 15, 2021	SYSTEM	\$12,915.72	
				- Total				\$12,915.72		
			MaterialCredit	- Total				\$12,915.72		
	0320 -	Total						\$0.00		
J7P3190I ·	- Total							\$0.00		
Overall - 1	Total							\$0.00		